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B9 SEeo 3B IR gforera
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2 3IISNT / J1AITET 33 41.25%
3. S9N / ifyeafad 18 22.5%
4 IS / HifeTebal 5 6.25%
AT 80 100%
2. UHl @ UHR Yd b YR—
3 9. el & GHR Tl B W& | 3fd Ufd U | Gl 3 | ufderd | gwfad
T
1. (TS / qgfdb e - - - - -
2. EINSESNRGED 10 1 10 125% | 10 fAfTe
3. TETRIAD | 9 2 18 225% | 18 ffe
4. TERRIHD | | 7 4 28 35% | 70 fAfe
5. IRECIRIED 4 5X1, 6X2, 7X1 24 30% 72 fafve
IR 30 - 80 100% | 170fAfE
faped Ao AAR®—24,27,28,29 10 fafse
3. favg o o7 TR — U 99 T4 @ 15 fAfie
EoRG) IPT JHIR gforerd
1. AN MRT—UR® | 1206 §. a® 5 6.25%
2 HHY Pl WRT—1206 §. A 1757 §. qD 5 6.25%
3 SOl ATy BT UReR U9 ey 6 7.5%
4. faea @ gfera 4 5%
5. e 5 6.25
6. B TR 7 8.75%
7. RS RPN 8 10%
8. SIe T 3 3.75%
9. Y 3 3.75%
10. TS T3 Soll A 3 3.75%
11. faffor e 3 3.75%
12. AT T 3 3.75%
13. uRdg- {4 HaR 3 3.75%
14. NI IRV Td Frite 3 3.75%
15. AR Srefereer # fRIaTg T T4 Sgfelt 4 5%
16. R srforawn @ |He Al 3 3.75%
17. a1 74 facir weerrd 4 5%
18. Iy U9 A SIFTdar oIt ol T JBHR 4 5%
19. e YREl 2 2.5%
20. AT T O Faw e 2 2.5%
TNT 80 100




Y2155 3= [ & howb| dp|ulie kb 62 b '8C°L2VC blhds bak
13 D12 @ fati MDY Lk b Lble L2k 1 A3Ib k boale — 2L — leiolp i |hoeb)
(0€) 08 (s (2) 81 (o1)ee (2¢1) ve ke %
- s - - - OK:] (OR (e 9 (@ e o] (9 oz (e 9 O O OFA NGK] (] ik
(Ws]| (s - - - - - - - - - - - kbl le
e — - - - - - (1) 2 - - - - - - - - - bRPK Dbd RO bh IDeabd 02
Ve — - — — — - W)z - — - — - — — — — [Ny ‘6l
(OR4 — — — — O — - — - — - — — — — Aogle 1 lbkh kD IDhAln dRlb] bh Ibblthe 8l
mr| - - - -] = - - - - M - - - - - - bl ki) b sk L
(e) ¢ - - - - - - - - - - - - - - - (e) € [RDJLE BEB @ libkofle RIDAbL 9l
(o) v - - - -1 - - - - - «(1) ¥ - - - - - - IkiBH kipk pd AIDKIR] |¢ lleiboele kIR Gl
(€) € - - - - - - - - - - - - - - - (e) € bBiolpb] b AlledRble higllie b
(@ ¢ — — — — - - - (1) + - - (1) e - - - - - AR b k3b)h €l
(0K — — - - - - - - - - (1) e - - - - - BRIBR bhlh (4"
(0K — - - - - - (1) 2 - - - - - - - - - Lo lojbblbl L
e - - - il - - - - - - - - - We - LRIBR |Io® bh IobjR ol
e - - - - - - - - - - - - - - (OK4 - ye 6
(OK4 -| - - - - - - - - - - - - - (OK4 - BRIBB Rin '8
@e| -| - - = | (e - - - - - (OX - - - - - MpM hald Y]
(OR - - - - - - - - - - - - #(he - - - Al Bap 9
(@ s - - — — — — — - — (1) ¥ — — — — — (OR} kDb 'S
(OR4 — — — — — — - R OR — — — — — — RIBDIE 1k babl v
Wel| -| - — - - - - - o | - - - - - - BRA bd AbDIK lb Rolklh nkle €
(@ s -| - — — - - - (1) + - - - - - (1) v - - @b 3 /S/1 B 3 90Z1—Dik LiRId hRR Z
(@ s -| - - — — - - - - W - (1) + - - - - $D '3 9021 B ladK—Ddb kialbd 1
VS | IVS | g AL VS [AD) VS VS | IVS ) sam
Leife bRl /Rl bbliite/ lriizhilLs Ripbie blE SlbZha /FIb3 kE3e B
08 — ¢lloh X —lizd LUsp| klo|blk —kkb|




TAT U A
HAEAAS TRIET, 2018
SECONDARY EXAMINATION, 2018
|aHIfoTe fasm
SOCIAL SCIENCE
Y : 3:15 §UC
quTieh : 80
Wenfar & fore g fAady —

GENERAL INSTRAUCTIONS TO THE EXAMINEES

1. GRIEATlT FAULH 37U U UF WR AHIG AR ford |
Candidate must write frist hid/ her Roll on the question paper compulsory.
294 e rfart 2

All the questions are compulsory.

3. AP YT Pl IR &1 T8 IR GRaD1 H & fored |

Write the answer to each question in the given answer sheet only.

o

4. f9 ol ¥ AR Wvs & S 99 & SN U A1 8l forg |

For question having more than one part, the answers to those parts are to be written togeather in
continuity.

5. U UF & @l 9 3l ®UR ¥ Bl ydR @1 e /R / [k 81 iR ')
AT & U DI 8 dal 79 |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the
question of Hindi versions should be treated valid.

EraGEl 3ich Uil g SR Pl g AHT
1—10 1 20 Tsq
11—19 2 40 Rlsq
20—26 4 100 Rlsq
27,29 6 150 TUsq
28 7 150 Rsq
Que. no. Marks per Que. Word Limit of ans.
1—10 1 20 Word

11—19 2 40 Word

20—26 4 100 Word

27,29 6 150 Word

28 7 150 Word




7. U9 AT 30 A B O GO g 3R 05 3ih BT 2 |

Question no. 30 is related to map work carrying 5 marks.

8. U GXT 24,27,28 AT 29 H 3P Thidd [dbhed 2 |

There are internal choices in Q. No. 24,27,28 and Q.No 29.

1. UceTadhlel™ HeTaellqRd TR Fi URig 8 ?
Why is Mahabalipuram of pallav era famous?

2. g9 H IRAO & dTell IRITE gRT Afd Taifde ol Ied &T 19 forfRgu |

Write the name of the still alive longest road built by Shershah.

3. " AHd= SFdT BT, ST & folv T 99T & gRT 39 &7 I8 HF b fag
PR ?

"Democracy is of the people's, for the people's & by the people's" which thinker has this

statement ?

4. SR ¥ ITE AT 3 U b Mdvedd a=-Te &7 =" dl ?
Which nearest Port will you select for product export from Rajasthan ?
5. YR ¥ ST 3T B TUET DI TRl Bl & 2

Which Institution calculate the National Income in India ?

6. "~ DI 3 ST’ THKH & gD P © 7

Who is the author of "' Planned Economy of India" ?

7. N AT b gda 3reger H1 A1 forRau |
Write the name of Present Chairman of NITI AAYOG. ?
8. YERWIfT fhd ded & ?

What is Infalation ?

9. TRIT & g=ash B RGN fha URd Bl ?

Who present the hyphothesis of Vicious Cycle of Poverty ?

10. fodl g8 RIS {5 Fed € 2

What is disguised Unemployment ?
11. 50 g &1 <7 fo<i wifdaal &1 |\ssy |

01

01

01

01

01

01

01

01

01

01



Explain the two Financial Powers of the State Assembly. I+1= 02
12. IS H el ARETT &l IR fafedl & =4 forRay |
Write four Methods of Water Conservation in Rajasthan. Vototota = 02

13. IRATT HY DI FJAT @ MR W b 9N | F1eT 737 8 ? IR0 Ald M
oy |

How many parts of Indian Agriculture are distributed on the basis of Seasons ?

Write name with Examplesl. Vatlax3= 02

14, Soil @S fH dEd € ? IR § Ugiferym ugred @ vveR &3 & 9 forRau |

What is Power Minerals ? Write the name of Petroleum fields in India. Vt+1% =02

15. il I ST I WRATYAT B MY AR b [ha—fbT 1A BT I BN ?

Which States of India will you choose for the establishment of cotton Textilles

Industry ? 02

16. SAEIT gig fhd HEd & ? §Hd Py al BRI [TRAT |

What is population growth ? Write its two reasons.

1+4x2 =02
17. Ot URAE fHdl A1 <21 BT a9 FXAT ARG UG HRAT &, RT 2
Why is water transport provides the cheapest traffic to any Country ? 02
18. {Sh gHTAT B JHAH Tg IR IUR G |
Give four suggestion to prevant road Accident. 7ax4= 02

19. TRYUTIHT el & [/Y H ATUD §RT 3 HaRT FRARYT B AR S dTed

fhal IR JUMY BT Il Dl \>ﬂQ|

As a municipal Chairman, mention any four measures you can take to settle

solid waste. Vax4= 02
20. 3P & "G PI JGURON fIRAT |

Write the concept of Ashoka's 'Dhamm’. 04
21. BRIV YaTd gIRT el & UlaRIE T Feg H qoid HIfY |

Describe in brief about the struggle of Maharana Pratap with Mughal. 04

22. 3R WHIfT BT YRS HIULH giclie H 81 FI AT ? Dlg IR HROT [IRT |

Why did Industrial Revolution first Start in England only ? write any four reasons. 1x4=04



23. AIBA= B Ahadl & oIy 3maedd IRRAFRIT HH—hH I 8 ? (@F AR)
Which conditions are essential for the successness of Democracy ? 1x4=04

24, "R NIRRT U fAbRINe NfaRer 87 | B & Uel ¥ IR ddb Iy |

" Indian Economy is a developing Economy" give four arguments in favour of this
Statement. 1x4= 04
grerar OR

" R fawen Ue IIfaeiid srefauarer 87| $oF & UeT § IR db oIfoy |

" Indian Economy is a undeveloped Economy" give four arguments in favour of this

Statement. 1x4= 04
25. G&T @ ol IR Y Bl Bl Sceld DI |

Mention any four important functions of Money . 1x4=04

26. faf¥® SITR/SHAT oM B IR U gesy |

Suggest any four measures for Legal awareness . 1x4=04

27. YRR IMEATET ATRIAT D QR 1919 ¥ 1947 S AL B WA TSTR_I DI G991
BIFSTY |

Analysis the event of Indian nationalist movement between 1919 to 1947. 06

3rerar OR

2091 TSI H YIORAE B SIS Tl A <t U Yhrl Sifelv |

Focus on Trible & Peasant movements of 20th Century Rajasthan's. 2+4=06

28. AT P UG BIH—hIT I 2 ? A Bl vfFadl bT qoiq B |

Which are the houses of Parliament ? Describe the powers of Parliament. 2+5=07
grerar OR

ATHHAT BT HITST gl Y, SHD 3fegel I Al BT quie HITY |

Describe the Organition of Loksabha & powers of its President. 2+5=07

29. IYUTA & WY H MY fha—ThT Al 1 SUIRT Haf ?

Which powers will you use as a State Governor ? 172x4 =06
grerar OR

FEHAT & WY H AT fha—Th wfdadl o1 SuIRT By ?



Which powers will you use as a Chief Minister ? 172x4 =06

30. faU T WRT & @1 g=faE # fFEfalRad a1 sifea divie —

(31) Dreteprar (@) =TI =Tt gRATST
(#) arewR () @

(3) feeed

Mark the following in the given outline Map of India :-

(A) Culcutta (B) Chambal Valley Project

(C) Barmer (D) Salem

(E) Delhi 1x5 =05




IR dlfeTdT — AR s

1. Ul R HQRT & R URYg, [SH @gMEl $I dRRIeR qoan | — 1 16
STHI BT TS B
2. e <H IS — 1 25
3. SEICRBSC] — 1 72
4. EASSICEASIE - 1 160
5. P AiRE®! FTe9 (CSO) - 1 165
6. TR oH. faedwavar - 1 168
7. JeTHAT $T AR Al 1 169
8. AR BHIA WR H Fad gig bl Reffd 1 180
9. TR AR 1 184
10. | ISR H Hel'\ Ffdd BT el Sarad H ARG IR AT A0 1 186
BT, S g8 ¥ §eM WR M) I & A& § HH A BT
11. 1. 3 g W =70 141 2 94
2. Af¥d oRar SiRAT
3. dfgd [ 79 9 8 Q)
12. (1) st (2) arerd (3) silet (4) AT (5) i1 (6) WiEs  (7) | Yox4 2 107—109
& W B BE () WA I =R
13. T 9T H — tlx3 | 2 113
1. TG HEA — SRV — HIDI, doRI, {1, GRE,
SSE, AGel, T (Pls TH)
2. W wEd — g, I, Sl faersd, SR, g et
AN (DTS Th)
3. G BHA — XYY, WRYS, Wbl dbsl, WRI (g
Th)
14. | Sol @ — U Unhfae Ad S "9 s Shared uered, | h+4x3 | 2 127
URATY] TTH A UK Rl B |
TR H USIforad 9ok &5 —
1. FEIYH el (ST, YR =1el)
2. g 99 Sl (4. §770)
3. QST T gdf e 9T
4. ISR
5. ARTE
6. feHTer &1 a1 &
7. qg IR
8. e IRE (@1 OF)
15. | HBRTSE, ORI, AT, Hed Uael, U. §9Td, RORAM (Plg dR) | Vox4 2 132,133
16. | foo<dl faory Im=RTel ® sl <o /9 / RH & MailRit &1 | 1+Yxo | 2 142,143
=T H gRaaT dRUT (1) O R 3A¥E (2) g W YA
3) Ta (PE AR)
17. RIMfH STd GRS & A7 | gRagd dARM &1 407 T8 H3em | — 2 158
Ul & IR ®ad o uRags & ArEl ¥ 8 Jrarard fdbar Sirar
2, 31 U8 e Il ¢ |
18. | UIGUYRID & U8 AT 204 U4 205 W <R GeITd 3fUlard VsX 4 204,204
19. | UIGUYRIP & U AT 212 U4 213 W IR GeId 3fUlard VsX 4 212,213
20 | H9S @ Afde I wg uliuifed feRl oW bEdr, o | — 03
g gq § gfd, favawedmn, a1, M, 9, Ud HHYE, 91
WHT G, BB BRI DRI, AU, & & Ul 377
S et ST FHAL fhar 137 |
21. | AERION UdM9 gRT 3[HaR &I AT DI WIHR Aol (hdl 17| 04 30,31

FPHIR RT ol T IRl & P YKIE Pl IR, BRI G
(1576) WA 1577 W AIHER 1579 TH ES T YA DI




IR dlfeTdT — AR s

DA PR [GoR WR ATHR PR o e Y9 gAY U d

Al & drd YR & QR 88 (37 F9Ifdd SR 1 A1)

22.

gicls & faegd 3iufdered AMs
dIR, DIIel & Wl ST qE—uTd B
SUIRT & THY I
PSIEIRSERER]|

Ighe wRMferd Rerfa

BRI Bifd U4 g (@13 AR)

1x4

04

60,61

23.

I F FaRAT
affes FHT
fRrferg @ SmTed ST

BRI RCISI

1x4

04

75

24.

MY A1 AT YT Al 3 H Jdq ud dig gl
referaRelT ® XA # gRac
3N Ud AMISTH SR FE H GoR
I RS (Ffera avi= smufer)
3T

POODN2IAODN 20 RODN -

=1 ufa aafed ema
NICEECIREIS RN G|
RET DI FHRT

FHY IR RS e
SHIfbR ID
IRISTTRI B FHRAT

e g8 doa (@13 aR)
<RI o s

L, N as 0N~

1x4

1x4

04

04

173,174

171172

25.

1. fafem &1 AreH
2. 4G BT AIUD

3. faaftqa gudmi o1 #uew
4

5

. T BT AUSR
. ST & 31 B Tl NfgaRer H i
(F1E AR), g faxor srfd

1x4

04

190,191

26.

UGIYRID & U A& 201 ¥ =R GeId 3fulerd

1x4

04

201

27.

1919 ¥ 1947 & e YUYW ©HCANY

IJele Tae —1919

\rIIc*IHIGIIC'II _GlT‘T SCHIChIS — 1919
IRAEINT A<l — 1920
JTSHT HHITE — 1928

A= 3@ &l — 1930
I AITTE — 1940

TR BIST A<l — 1942
aﬁs‘ﬂﬁ?ﬁqﬂm)

N g D=

rerar

2091 TS H I[ORAT & ST A< Tl

1. WA 3l 1913

2. T®I 3= 1917

fpam mare™

1. faShiferar fam smrad — WierdrsT

2. I fHaT S<Ici- 1922—1934

3. 97 9 Jrared 1921

4. S8 fHAM ales 1922—1927

faT vaTeT 1925
aﬁs‘ A < 97) (@oi= smfer)

2x3

1x2+2x2

06

06

51,62

53,54




IR dlfeTdT — AR s

28.

AT

:
s
=

1x2+1x%5

2+5=7

79,80

29.

ﬁ
o
3
%

%7
3
|
:

1Y5+1Y%
1Y5+1Y%

1Y+1%
1a+1%

06

06

95

98

30

PIABII (T o= — BIORI IANT)

IS g1l RIS (TSR —Hey<y)

EIISLE (TSR, BT + forge $13)
JetH (AfAeTg, diie gaTa )
faeetr (arfer STER=)

EmERE # (qeE)

Ix5

117
105
127
132
141




